
EXAM 2 FORMULA SHEET 
 
 
 
x = (Σxi)/n  s2 = {1/(n-1)}[Σx2

i - (1/n)(Σxi)2] = [Σ(xi -x )2]/(n-1) p = x/n 
 
  Normal Distribution:   E(X)=µ  Var(X)=σ2 

 
  Standard Normal Distribution: E(Z)=0  Var(Z)=1    Z=(x-µ)/σ 
 
  Sampling Distribution of x:  E(x )=µ Var(x )=σ2/n    Z=(x-µ )/(σ/√n) 
 
  Sampling Distribution of p:  E(p )=p Var(p )=p(1-p)/n   Z=(p-p )/√[p(1-p)/n]   
 
  ________________________________________________________________________________________ 
 
 
  Inference on µ, Known σ 
  Zstat = (x - µ0 ) / (σ/√n )      
  C.I.:    x ± Zα/2 (σ/√n ) 
 
  Inference on µ, Unknown σ 
  tstat = (x - µ0 ) / ( s/√n ) 
  C.I.:   x ± tα/2,n-1 ( s/√n )  
 
  Inference on p, Large Sample 
  Zstat = (p - p0 ) / √[  p0(1-p0)/n ] 
  C.I.:    p ± Zα/2 √[ p(1-p)/n ] 
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